Polar Basic and Graphing Review Packet #2

Plot the point with the given polar coordinates.
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Answers

Plot the point with the given polar coordinates.
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Find all pairs of polar coordinates that describe the same point as the provided polar
coordinates.

T in
5) (-4, — 6) |2,——
12 2
L} =
In 2 T n 2 i
B3 3 3 3
n . = x
6 6 3
T — 2 3 " T 2 3 "
'T_n 117 7_"! 1lxn
6 3 3 6
il kL = kL3
3 In 3 3 I 3
2 2
I 23n
7) |4, -— 8) 2,
6 12
1Y by
25 ? x 27 ? b
3 E) 3 B
i z Ll x
6 6 6
T — 3 3 3" T 32 3 4"
'T_rl 11 7_‘1 1n
6 6 3 6
An EL dn LS
3 In 3 3 in 3
2 2

Convert each pair of polar coordinates to rectangular coordinates.
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Find all pairs of polar coordinates that describe the same point as the provided polar

coordinates.
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where » is an integer

where » 1s an integer
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where n is an integer where » is an integer

Convert each pair of polar coordinates to rectangular coordinates.
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Convert each pair of rectangular coordinates to polar coordinates where r> 0 and 0 < 8 < 2x.
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Convert each equation from rectangular to polar form.

17) y=5x 18) x*+(y—=1)=1
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Convert each equation from polar to rectangular form.
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Consider each polar equation. Classify the curve; and sketch the graph.
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Convert each pair of rectangular coordinates to polar coordinates where r> 0 and 0 £ 8 < 2x.
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Convert each equation from rectangular to polar form.
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Convert each equation from polar to rectangular form.
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Consider each polar equation. Classify the curve; and sketch the graph.
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27) r="Tcos 0
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31) r=3—-2cos 0
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34) r=2+4sin 0
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34) r=2+4sin 0
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41) r=4sin (36)
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